Of &

A E E Al

A

SN 2SALRRIAA
HH: MEHS 54
o9 ELSHSA 2L (el @)
_ _ SIEN
SM-EH . C(BH) - HRAY - B2 Ofl &+ 04 Sl ko HRs2
FAE2elArY & 788,985 1,089,413 A300,428
MEH=E 54 205,400 636,571 AA431,171
sZsHsa 2H2e 63,680 4,500 59,180
2y 2 2F 63,680 4,500 59,180
201 Lsr2 Ayl 43,480 3,500 39,980
01 AtE2teldl 43,480 3,500 39,980
< Yuragyl > 0
o YOIESS JI7 A0l0f £ ARE A
150,000 * 208 3,000
o UM 2 E2= MA 60,000 * 2074 1,200
o A28 MEBE(BZ8E £)7Y
200,000 *= 108 2,000
o gdd el =&KX 250,000 * 8CH 2,000
<2gLg > 0
o 2IY +g
35,000 * 68= * 12Al2t « 128 30,240
o LIEEIYN A4S
35,000 * 132 » 12Al12F » 128 5,040
301 YEtEa= 1,000 1,000 0
10 BANHEAS 1,000 1,000 0
o MENSAM 2Y3 29
10,000 = 259 * 43| 1,000
405 XHAHFE SHI 19,200 0 19,200
01 T =ESHSHI 19,200 0 19,200
o HYMA 2 5,000,000 * 2CH 10,000
= MOIZ2 +¥ 2,200,000 * 2CH 4,400
o SUAHN 7Y 2,000,000 * 2C4 4,000
o Hs&Jl =+ 400,000 » 2CH 800
FAE ANEES 7A2 141,720 632,071 A 490,351
ANE2 SX2e 136,720 132,071 4,649
101 el t| 10,920 10,548 372
10 JIZtNZ22NSEx 10,920 10,548 372
< YAAtSRIRY > 0
o FFW2 Y BEMH o=
32,850 * 5% * 602 9,855
o JUHEEE 9,855,000 * 10.8% 1,065
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FAN: SIAIE 2t AL A
A5

M MEHE |4

& 23AE AEE |RA2el (el =3
_ _ _ Muo
SA B HRA(SH) - MRAY - B 0 &t o4 e HIREY
201 et 20,197 26,440 26,243
01 AtS2cld] 6,462 9,950 A 3,488
< guagyl > 0

12,500 * 2285 * 13l 2,850
o 2sAE 293 A
7,000 * 258% 23] 3.612
02 ZZSH| 13,735 16,490 £2,755
<BTLILMA > 0
o HMIIQHHEHA 3,000,000 * 13 3,000
o ABBHFUB A 3,000,000 * 13| 3,000
< NEZHISXY > 0
o 2ASHS R
1,897 * 6,862 * 30/100 3,906
o optEIOIG R A RX
1,897 * 2,357 * 20/100 895
o LoI=X s |
1,897 * 1,134m * 30/100 646
o ELSHOLA 8K
1,807 * 1,384 * 60/100 1,576
o WANE REHAZ |
1,897 * 625m * 60/100 712
206 2l 26,268 24,168 2,120
IEET 26,288 24,168 2,120
o 2aA4 Bl A2 FHF 4,900,000 4,900

75,000 » 20& * 3% 4,500

o MI|ZdIRAl2e ARE F2Y

100,000 * 305 3,000

o JIAEH |X 2l 2,388
- B8R 6,000 » 20¢£ » 5& 600
= 11,000 » 15kg * 65 990
- 22 40 » 300g * 5 60
- d2E4ZH 45,000 = 1£* 145 630
- H3=2FEN 1,800 = 204 = 3& 108

o HLAE DE 2282 (L3,0tAF )

o Z3AIE 2

2,000,000 * 14
1,000,000 = 23]

2,000
2,000
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SH: 2EAEBRIAY
HE: MBS S4
S BSAE AEE RN (5 &2
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Off &F K Ol AF o8 Hws2
o xFeel 5% 7Y 1,000,000 * 23l 2,000
o FMAR WHRME T o
700,000 * 7CH 4,900
o 2ot 228 7 50,000 * 122 600
401 AN&HILLHY 79,315 61,915 17,400
01 A&H] 79,315 61,915 17,400
o 23NE NESS AL
10,000,000 * 14! 10,000
o BLSHOIA XX 012 e)|
9,000,000 * 14! 9,000
o ELSHSH 24| B B0 &3
9,600,000 * 14! 9,600
o 2HAM AESeH L XSH2HY
5,000,000 * 141 5,000
o 2HAL AR HE 19,700,000 * 141 19,700
o BHAL ANES A9 U 2RRe Ha
6,000,000 * 14! 6,000
o ™7 Y otFI| nH 8,500 * 50074 4,250
o ®INE RIS 500,000 * 3% * 23| 3,000
o HLAZ RX24
1,807 * 2,809m * 50/100 2,665
o HSAY 247 MY
1,500,000 * 2CH 3,000
o LB A 2,000,000 * 14! 2,000
o ELSHSH ZXI ZH 1A
1,700,000 * 37| * 18l 5,100
BHOANE &5 5,000 500,000 A495,000
401 AlEHIL = O] 5,000 500,000 495,000
01 A&H] 5,000 500,000 495,000
o 2EALE FF He 5,000,000 * 14! 5,000
TJSHZ =5 L 2Y 165,131 130,911 34,220
oistelDIE e A 29 - 22 165,131 130,911 34,220
SNTY % 22 83,240 69,460 13,780
201 L2yl 4,260 3,960 300
01 At 2eldl 4,260 3,960 300
<Qgragt|> 0
o FIAE 7Y 10,000 * 255 * 122 3,000
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SN SEAETEI AL
M ZRCAD =

el ObJtOlblsteAs 29 - 2el (el =
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
o UHSUE BIED Z2E 21X
120,000 * 38~ 360
o JIEZRIE gl= 300,000 = 38 900
206 M= dl 6,780 9,500 AN2,720
01 MZHl 6,780 9,500 N2,720
= RFIDEHD 880 * 6,0000H 5,280
o TNEC S 300,000 * 55 1,500
207 S OHEH 3,000 0 3,000
01 ¢844 3,000 0 3,000
o= Xt= MARC DB —*=HI 600 * 5,000 3,000
405 XHeHE S| 69,200 56,000 13,200
01 XA ESEH=HI 9,700 0 9,700
o 020l SASE 2= 6,200
- s8¢zl 4,400,000 * 14l 4,400
- SASE P 900 = 2,0000H 1,800
o TAHMEDII 3,500,000 * 14l 3,500
02 S=AM-&l 59,500 56,000 3,500
o YBtE Y 12,500 = 4,000& 50,000
o DV S HEAM 7 30,000 = 2008 6,000
o QL2 = 35,000 = 1008 3,500
datztel & OXNENZY 29 59,671 43,031 16,640
201 et 6,839 6,839 0
02 232944l 6,839 6,839 0
o ZHILAHIA 018Z 150,000 * 122 1,800
o MAAIAEI R X HI 175,000 * 12& 2,100
o MAFHIS X 50,000 = 12& 600
o SHEHI= XY 19,000,000 * 8% 1,520
o ZESHUL R 10,230,000 * 8% 819
207 SO 52,832 33,792 19,040
02 &AHIHEHI 52,832 33,792 19,040
o= ZMHOIX I HEH| 500,000 » 12& 6,000
o YSIHAIAE JHY 15,300,000 * 12% 1,836
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SN SEAETEI AL
M TDEHD HE L 29

el ObJtOlblsteAs 29 - 2el (el &)
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
o EMZelAAE 23 41,300,000 * 12% 4,956
o HIOIAAYAAAR—AS 360,000 * 34! 1,080
o ZEIOICIHAARIZS 140,800,000 * 12% 16,896
o @ & HAAMH 37,800,000 * 8% 3,024
o ENZNSHAAE S22
172,000,000 * 14! * 7% 12,040
= KOLAS €dI01E 7,000,000 * 14 7,000
Z oA 22,220 18,420 3,800
201 ZBH2EH] 21,220 18,420 2,800
01 AtR2&cldl 21,220 18,420 2,800
<ggt=ZH[> 0
o EEE B3t 50,000 * 84 * 23] 800
o SNZAE S2HH 160 = 2,0000H 320
o SN2 SEAT M 1,200 = 3,000% 3,600
@YL 0

40,000 * 8& &t » 25A12t » 23 16,000

o SAULE AALE

100,000 * 5% « 13| 500
405 RHaHE S| 1,000 0 1,000
01 AAUSEF S| 1,000 0 1,000
o XENXIH 20,000 * 504 1,000
2ZI|E BE U 22 93,508 23,160 70,348
S2=SHOIZ 22l - 29 93,508 23,160 70,348
£2=HOILA 29 69,398 23,160 46,238
101 o121t 10,920 0 10,920
0 JZH2ENSES 10,920 0 10,920
< LAIAFOIOIT > 0
o ZZF22| L FEAH o=
32,850 * 5% * 602 9,855
o 422 9,855,000 * 10.8% 1,065
201 et 29,678 23,160 6,518
01 At=R22[H] 11,078 5,760 5,318
< YergH| > 0
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chel:

Ofol &2 HO

SHAlE BRIA R A
|8t =E o B
2

'SHOHIHE 22l - 29

_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 0 Ak o4 Sl ko HRE2
o E2EH0IT 01U C=AE
10,000 » 8¢ = 22 160
o MIHMEH LPG +& 30,000 » 6@ * 28 360
o BUSHOILI ZHAI SAAHE
10,000 » 10 100
o BUSHOIMI HotE Ha
12,500 » 380& * 12l 4,750
o BUSHOIII 293 84
7,000 * 172E * 28] 2,408
<2YLY > 0
o MSIZ2 )l ZArE
50,000 » 3 * 22Al2t 3,300
02 =324 18,600 17,400 1,200
<ZZRIYLHA > 0
o EUASHOIZI ®II23
1,200,000 * 122 14,400
o BUASHOIMI A&EBe HH242
350,000 = 122 4,200
206 TH=HI 9,500 0 9,500
01 M= 9,500 0 9,500
o MEZ2IY 29 DILE 7Y
50,000 * 30% 1,500
o HEZZIY 29 %) 2
100,000 * 2& » 1504 3,000
o HEME AWTY 3,000,000 * 14} 3,000
o BUSHOILI 425 7
100,000 * 205 2,000
401 AIEHIZ SO 17,000 0 17,000
01 AlI&HI 17,000 0 17,000
o BZS S8l 5,000,000 * 14! 5,000
o EUSHUIII 84X ¥ IE DA
5,000,000 * 14! 5,000
o BUSMIL L Y £el
5,000,000 * 14l 5,000
o OfRI0l U Mol BAI| MBE E4
500,000 * 40424 2,000
405 KHoHH SHI 2,300 0 2,300
01 XA ESESH=HI 2,300 0 2,300
o HAIZ AM ARE 7Y
1,000,000 = 2CH 2,000
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S ESALBRIAY A
Mo BEI|Y HE Y 22
Colr SUSHOIMT 22 - 29 (E9): & @
_ _ _ Muo
SN -3H - S2A(2AH) - NRAY - BE= Off &F K Ol AF o8 Blusz
o HotE 7Y 300,000 = 1} 300
HAWE OISR AY 24,110 0 24,110
101 o121t 10,010 0 10,010
10 JRIN2ENSE+ 10,010 0 10,010
o AU OFSE BRINEA
32,850 * 194 » 275 9,034
o4l 2EE 9,034,000 * 10.8% 976
201 Y2yl 4,600 0 4,600
01 ARzl 4,600 0 4,600
< geragyl > 0
o EH2 S LEY NN 4,000,000 * 14! 4,000
o CIEY AIB2 50,000 * 128 600
405 X&HF S 9,500 0 9,500
01 KALSEHSH 9,500 0 9,500
o FRIANRY NP 200,000 * 34 600
o FRAANRY BADY 300,000 * 34 900
o OtY BE 7Y 500,000 * 1624 8,000
HE23 BE U MB 16,900 0 16,900
ZANE RETAT 29 - 22 16,900 0 16,900
LANE RETAIZ 2 - B2 16,900 0 16,900
201 Ypr2 o] 16,900 0 16,900
01 ARzl 2,500 0 2,500
<uhs 2> 0
o BBOHY HAIT &X 2,000,000 * 14! 2,000
o 222 M 500,000 * 14! 500
02 BT 14,400 0 14,400
<2322 ¥ HMA> 0
o WANE RSHAR HIIK3
1,200,000 * 128 14,400
HHSALH (SSA L 22 A L) 308,046 298,771 9,275
olzi 2ot (23HAI L 22 A &) 20,300 14,132 6. 168
AL (23HAI ER2IA &) 17,300 11,132 6. 168
101 o121 17,300 11,132 6. 168
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2N SSAIE 22| AFS A
M HNSAAH|(SSIAIE 22 AIE A)
S QlE2YH|(23HAl & 22| AL A) (428
S HEM O (S H) - HIRAY - BAS Of) & o4 dE = Hm=2
- o= * T * - (= R wi e e o = 0:”/‘l|_% Wsa
02 %G 17,300 11,132 6,168
o AZ2HeZ2R2H
7,393 * 15H = 13A12F = 12& 17,300
SN (S AI A 22| ALY ) 3,000 3,000 0
203 Y2F&H| 3,000 3,000 0
04 ENSYGHIRF=XH| 3,000 3,000 0
o 1501 0|5t 250,000 *~ 12& 3,000
J2ZH| (2SAIEZ2IAI A ) 287,746 284,639 3,107
Jl2dH(2ded) 204,813 232,146 N27,333
201 LBr2d9y| 177,453 197,626 N20,173
01 AF22t2lbl 55,353 47,962 7,391
< YHk==H| > 0
o AIRASRH A2FRL 4,390
- ANE2EEE 5,000 » 25& * 63l 750
- SI&A 50,000 * 208tA * 33| 3,000
-3 40,000 * 4014 = 43| 640
o Z|XESA £=AH 22 2,000 = 1000H 200
o FlEAlde ARE 2 3,000
- MNA 15,000 = 4004 600
ot SEH 1Y
10,000 * 2000 ~ 12& 2,400
o MAJIESHH =& F¢
700 = 25000* 12& 2,100
o TgE AQE ¢ 4,280
- YUHLEH 120,000 = 704 = 23] 1,680
- 22HEYH 1,300,000 = 2CH 2,600
o SANI| YL A ADQE 2 2,590
- EY 100,000 = 3CH = 23] 600
-c4 500,000 * 2CH 1,000
- EAEX 16,500 » 58tA « 128 990
o NERES 3,072
- SYA 12,000 = 128 ~ 128 1,728
- XX 8,000 » 1482 = 128 1,344
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SN
X XH .
(=

chel:

2| At E &
SZHI(SSAIE 2l A L)
HI(2StAIE 22l At A)

- _ _ boE ==
2N -3 - c2(3H) - NEME - HES Ol & ‘Oﬁ,‘\jo“ Hns
o SAJ|, ZEE S #EFH =
100,000 = 504 * 23] 1,000
o HHESE 2 60 = 5,8800K 353
o ALl 30,000 * 10X * 23] 600
o D22l 25,000 = 7CH = 128 2,100
< Y24 > 0
o ¥4 50,000 = 19 » 482! 24,100
< Ol=Hl > 0
o HRUZE 22= 100,000 * 494 400
o HAQRA ZE= 100,000 * 4Y 400
< SZEHl > 0
o 2IAIE FLYP =&
7,000 * 4% » 13 = 12& 4,368
< dxzE > 0
o ¥=)| diEz 50,000 * 4CH = 128 2,400
02 =22ZH| 122,100 149,664 N2T7,564
< ZZ2QZYHA > 0
o ML= 120,000 = 404 = 12& 5,760
o MIe=2 8,000,000 = 12& = 75/100 72,000
o ZNEIINY MEJHE
1,600,000 * 122 19,200
o HHNG aUHATE S
120,000 * 4CH + 12& 5,760
o & -3tk AMEZ 300,000 * 12& 3,600
o HYUSs == 20,000 * 33/ + 12& 720
o 2H)| NItz 40,000 * 43| 160
o EFAL BEES 1,200,000 * 23| 2,400
o XKoot =2 BAIZ 300,000 * 13 300
o S| otdae HAE
200,000 = 30HA + 12€ 7,200
< XLy > 0
o X=X gl 2,000,000 * 1CH 2,000
o FFMU 3,000,000 = 1CH 3,000
202 OdHl 5,760 11,520 AN5,760
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M 23AIE2E
e B

M HH2FGUI(SSAIE 22 A L)
S J|2HUI(2AE22IAIE A) (&2 &2
5 T ez
2N -3 - c2(3H) - NEME - HES Ol & @,;OH Hns2
01 =2Woldl 5,760 11,520 N5,760
o Z3AE FEFA 20,000 * 494 * 72 5,760
307 QIZtolA 19,200 12,000 7,200
05 QIZHRIES 19,200 12,000 7,200
o R0IAHl AlIAE 200,000 * 8HA = 128 19,200
405 XH&HFESHI 2,400 11,000 A 8,600
01 T EEZFSHI 2,400 11,000 A 8,600
SUSX 3o &R Y o Xt
53] 300,000 * 8K 2,400
Jl2dl(AlE 57,909 36,699 21,210
201 ey 53,909 35,994 17,915
01 AtR22| 53,909 35,994 17,915
< bt=2Hl > 0
o MEI|=02l 3l 300,000 * 13 300
o gtglotd | R 83| 200,000 * 23| 400
o AYotM 3l 200,000 * 13 200
o EZord&Ae Xt &3l 200,000 * 13l 200
o J|HAEH BAts=rZE 400,000 * 13| 400
< Ol=Hl > 0
o &gs Y oM 136,000 * 5Y 680
< S EHI> 0
o AEHR F&
7,000 * 48 » 10 = 12& 3,360
< ¢EHl > 0
o MsaLtyE e ¥ WD 7]
372,623 = 3CH = 80/100 895
o MsaHYUEUH L W24 dAZ Y|
1,700 * 15,000 £ * 33 * 45/100 34,425
o OIHIDIoIRA “HetEad X |
372,623 = 80/100 299
o OP2tGI0latR A et e HdZH|
1,700 = 15,000 ¢ = 50/100 12,750
202 (44l 4,000 0 4,000
01 =2Woldl 4,000 0 4,000
o AEE=R = 20,000 * 4% * 50 4,000
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SN 2atAIL e
M HHSHAH|(SSAILREIAYL)
Sl JIE A (2SA L B2IASA) (98 @)
_ _ HE T
SN EB -GS - MBAY - BES 0 & 24 e HRE2
Il ZH(NASEEY) 13,040 15,794 A2,754
201 L2yl 6,240 7,344 A1, 104
01 AtRa2lt] 6,240 7,344 A1,104
< gegtl > 0
o =M 3l 200,000 * 13l 200
o 2RAOE M 1,000 000 * 14! 1,000
<32l > 0
o =Mzl T
7,000 * 5% x 122 * 128 5,040
202 OfH| 5,000 4,800 200
01 =LHoit] 5,000 4,800 200
o TABYR £ 20,000 * 5% * 502 5,000
405 XH&HF S| 1,800 3,650 A1,850
01 XALSES 1,800 3,650 A1,850
o BE I 300,000 * 3CH 900
o BIIHH| 300,000 * 3CH 900
Jl=2ZbI(EI0 T2 11,984 0 11,984
201 Yeredy 8,394 0 8,394
01 AtR2el 8,394 0 8,394
<3zl > 0
o HiOtDIARE =X
7,000 * 3% * 142 « 118 3,234
< eIl > 0
o MIHEE o2 5,160
] 1,700 * 3,200 * 75/100 4,080
-4 2 &2
1,800 * 504 * 128 1,080
202 OfHl 3,240 0 3,240
01 = Lot 3,240 0 3,240
o HI0HI2 & 20,000 * 2% * 81 3,240
405 XhoarzE S| 350 0 350
01 NALSEFHSH] 350 0 350
o OXEg ARI 7Y 350,000 * 1CH 350
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